
 

 

Answer on Question #63866 – Math – Statistics and Probability 

Question 

The variation of incomes of executives is to be compared with the variation of 

incomes of unskilled employees. For a sample of executives, mean = Ksh 500,000 and 

standard deviation = Ksh 50,000.  

For a sample of unskilled employees, the mean = Ksh 12,000 and the standard 

deviation = Ksh 2000.  

Is the variation among the executives greater than the variation among the unskilled 

employees? Justify you answer. 

Solution 

We need to calculate the coefficient of variation of incomes of executives and 

unskilled employees. 

The coefficient of variation for incomes of executives is 

𝐶𝑉1 =
𝑠1
𝑥̅1

=
50,000

500,000
= 0.1. 

The coefficient of variation for incomes of unskilled employees is 

𝐶𝑉2 =
𝑠2
𝑥̅2

=
2,000

12,000
=
1

6
≈ 0.167. 

𝐶𝑉2 > 𝐶𝑉1. 

Therefore, the variation among the executives is less than the variation among the 

unskilled employees. 

Answer: No. 
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